SITEID : MediaMill (Universiy of Amsterdam, submission ID: MediaMill_2)

Experiment ID :MediaMill_MEDI11_MEDI1I1TEST_MEDFull_SemiAutoEAG_c-IronMan_1

Events Processed : E006 (Birthday Party), EOO7 (Changing a vehicle tire), EOO8 (Flash mob gathering),
E009 (Getting a vehicle unstuck), E010 (Grooming an animal), EO11 (Making a sandwich), EO12 (Parade),
EO13 (Parkour), E014 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet|#FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186|31821 51| 524| 135/ 0.0166 0.7258 0.9326| 0.0120 0.7473 0.8969|  0.9395

E007| 111|31821 42| 528 69| 0.0167 0.6216 0.8295| 0.0107 0.6396 0.7731 0.9235

E008| 132|31821 76| 477 56/ 0.0151 04242 0.6122| 0.0159 04015 0.6005|  0.8405

E009| 95/|31821 40| 535 55| 0.0169 0.5789 0.7895| 0.0111 0.6000 0.7385|  0.9804

E010| 87/31821 31| 565 56/ 0.0178 0.6437 0.8660 0.0156 0.6552 0.8500|  0.9631

EO11| 140|31821 54| 507 86| 0.0160 0.6143 0.8141| 0.0167 0.5929 0.8018|  0.9287

E012| 231|31821 106| 469| 125/ 0.0148 0.5411 0.7265| 0.0154 0.5281 0.7203|  0.9584

EO013| 104|31821 46| 526 58| 0.0166 0.5577 0.7648| 0.0076 0.6250 0.7195|  0.9864

E014| 78|31821 35| 520 43| 00164 0.5513 0.7558| 0.0119 0.5513 0.7000{  0.9029

EO015| 81/31821 26| 526 55| 0.0166 0.6790 0.8860| 0.0095 0.7037 0.8229| 09115

DET for HediaMill_2 : MediaMill_MED11_MED11TEST_HMEDFull_SeniAutoEAG_c-IronHan_1
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